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GENERAL APTITUDE

1. How does light normally travel?
A) In concentric circles B) In a straight line
C) Always towards a dark area D) In a curved line

2. First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

3. A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

4. In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

5. Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil

6. The different group of stars is known as
A) Constellations B) Celestial bodies C) Asteroids D) Comet

7. Which country has two-party system?
A) India B) Sri Lanka C) United Kingdom D) Nepal

8. Which of the following is a macro nutrient?
A) Mn B) Mg C) Cu D) Zn

9. The process of evaporation causes
A) Cooling B) Heating C) Dryness D) None of these

10. Place directly above focus on Earth’s surface is known as
A) Strike B) Comma C) Epicenter D) Origin

11. HCF of 84 & 270 is
A) 8 B) 6 C) 4 D) 2

12. The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

13. 7:12 is equivalent to:
A) 28 : 40 B) 42 : 71 C) 72 : 42 D) 42 : 72

14. Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4th Feb 2005 to 18th April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

15.  The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A) 0 B) 1 C) 10 D) 19

16. An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr
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17. Every rational number is
A) A natural number B) An integer C) A real number D) A whole number

18. What decimal of an hour is a second?
A) .0025 B) .0256 C) .00027 D) .000126

19. A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?
A) 588 apples B) 600 apples C) 672 apples D) 700 apples

20. A does a work in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?
A) 5 days B) 6 days C) 7 days D) 8 days

DOMAIN KNOWLEDGE

21. The temperature indicating instrument in vehicles indicates the temperature of
(A) Engine piston (B) Engine cylinder (C) Lubricating oil (D) Jacket cooling water

22. Two general types of tyres are
(A) Tube type and tubeless (B) Solid and tubeless (C) Air and pneumatic (D) Split rim and drop centre

23. How many cells are used in a 12 volt car battery?
(A) 2 (B) 4 (C) 6 (D) 8

24. The motion of the cam is transferred to the valves through ______.
(A) Pistons (B) Rocker arms (C) Camshaft pulley (D) Valve stems

25. The power actually developed inside the engine cylinder is called as
(A) Indicated power (B) None of these (C) Frictional power (D) Brake power

26. If the air-fuel mixture in a spark ignition engine is too rich, then air-fuel ratio is about
(A) 17 : 1 (B) 10 : 1 (C) 13 : 1 (D) 15 : 1

27. Petrol that detonates easily is called
(A) Blended fuel (B) Unleaded petrol (C) High octane petrol (D) Low octane petrol

28. The advantage of a tubeless tyre over tube type tyre is
(A) Slow air leakage (B) Better fuel efficiency
(C) Less chances of running flat (D)  All of these

29. In a single dry plate clutch, torsional vibrations are absorbed by
(A) Coil springs known as torsional springs (D) Clutch pedal
(C) Central hub (B) Cushion springs

30. The battery is an electrochemical device, which means battery
(A) Does not use an electrolyte (B) Has curved plates instead of flat plates
(C) Uses chemical action to provide electricity (D) Makes chemicals by mechanical means
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31. An overinflated tyre will wear the tread most near the
(A) Centre (B) Edges (C) Corners (D) None of these

32. The calorific value of Diesel is about
(A) 36.5 MJ/kg (B) 38.5 MJ/kg (C) 42.5 MJ/kg (D) 45.5 MJ/kg

33. The function of oil control rings is that it
(A) Maintains a seal and prevents escape of burned gases and oil leakage
(B) Prevents engine oil from going into the combustion chamber and returns excess lubricating oil off the cylinder
wall through the return holes in the piston to the oil pan
(C) Lubricates the cylinder wall by releasing oil from its hole
(D) Keeps the cylinder wall lubricated by holding oil in its channel

34. Two advantages of using helical gears rather than spur gears in a transmission system are
(A) Noise level and economy (B) Noise level and strength
(C) Strength and less end thrust (D) Strength and cost

35. The brake warning light warns the driver of
(A) Power brake failure
(B) Water in the master cylinder
(C) Air in the hydraulic system
(D) Failure of the primary or secondary circuit of hydraulic system

36. The connecting rods are generally made of __________ shaped cross-section.
(A) I (B) H (C) L (D) C

37. It is necessary to maintain the valve clearances as they
(A) Make the crankshaft turn smoothly
(B) Increase the speed at which the valves move up and down
(C) Allow for lengthening of the valves owing to the heat of combustion
(D) Reduce the resistance to sliding that occurs between the cam and the tappet

38. The characteristic that is enhanced by the honing of cylinder sleeves inner surface is
(A) Cooling efficiency (B) Resistance to wear
(C) Lubrication performance (D) None of these

39. If the air-fuel mixture ignites before the spark takes place at spark plug, the condition is called
(A) Detonation (B) Ignition (C) Pre-ignition (D) Rumble

40. The instrument used to check specific gravity of acid in a battery is
(A) Hydrometer (B) Hygrometer (C) Anemometer (D) Multimeter

41. The crankshaft of a typical inline four cylinder engine has ________ balance weights.
(A) 12 (B) 4 (C) 16 (D) 8

42. The condition that results in large quantities of HC emission is
(A) High temperature combustion (B) Incomplete combustion
(C) Low temperature combustion (D) High atmospheric temperature combustion
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43. The engine oil viscosity is defined by ___________ ratings.
(A) Automatic transmission fluid (ATF) (B) Society of automotive engineers (SAE)
(C) Gross vehicle weight (GVW) (D) American petroleum institute (API)

44. The negative plates of a lead acid battery has
(A) Lead peroxide (PbO

2
) (B) Spongy lead (Pb)

(C) Lead sulphate (PbSO
4
) (D) Sulphuric acid (H

2
SO

4
)

45. The drive-shafts are connected to the differential and wheel hubs through universal joints because the universal
joints
(A) Absorb the vibrations transferred from the surface of the road
(B) Compensate for variations in the relative positions of the differential and the wheels which result from bumpy
road surfaces or other similar driving conditions.
(C) Absorb any difference in speed between the left and right wheels when the vehicle is turning
(D) None of the above

46. The octane rating of petrol commercially available is
(A) 85 - 95 (B) 95 - 100 (C) 100 - 110 (D) 110 - 125

47. The vehicle ride will be comfortable if
(A) Unsprung mass is kept minimum (B) Sprang mass is kept minimum
(C) Vehicle mass is kept minimum (D) All of these

48. The auto ignition in a spark ignition engine means
(A) Automatic ignition of the charge at the end of compression
(B) Ignition induced by the passage of a spark
(C) Ignition of the charge before the passage of flame front
(D) Ignition induced to supplement the process of normal combustion

49. When the brake pedal free play is less than the specified value, then the
(A) Brake drags (B) Brake fades
(C) Vapour locking occurs in the brake lines (D) Antilock braking system malfunctions

50. The acid used in automobile battery is
(A) Hydrochloric acid (B) Hydrofluoric acid (C) Nitric acid (D) Sulphuric acid

51. Highest useful compression ratio (HUCR) is the highest compression ratio at which
(A) Engine can run (B) Engine gives maximum output
(C) Engine is most efficient (D) Fuel can be used in a test engine without knocking

52.  A petrol engine of a car develops 125 Nm torque at 2700 r.p.m. The car is driven in second gear having gear ratio
of 1.75. The final drive ratio is 4.11. If the overall transmission efficiency is 90%, then the torque available at the
driving wheels is
(A) 8.091 Nm (B) 80.91 Nm (C) 809.1 Nm (D) 8091 Nm

53. The air gap between the central electrode and ground (or side) electrode of a spark plug is around
(A) 0.2 mm (B) 0.5 mm (C) 1 mm (D) 1.5 mm

54. A four cylinder engine has a capacity of 2.4 litres. The swept volume of one cylinder is
(A) 400 cm³ (B) 600 cm³ (C) 1200 cm³ (D) 2400 cm³
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55. The positive plates of a lead acid battery has
(A) Lead peroxide (PbO

2
) (B) Spongy lead (Pb) (C) Lead sulphate (PbSO

4
) (D) Sulphuric acid (H

2
SO

4
)

56. In comparison with a radial tyre, one advantage of a bias ply tyre is
(A) Longer life (B) Lower rolling resistance
(C) Smoother ride at low speeds (D) None of these

57. The main merit of a multi cylinder type cylinder sleeve is
(A) Smaller engine dimensions (B) Better cooling efficiency
(C) High rigidity (D) None of these

58. Thinner is added to the paint in order to
(A) Make pigments and resin mix easily (B) Make paint film hard
(C) Optimise its viscosity (D) None of these

59. When the battery is half (50%) charged, the specific gravity of acid in a battery is usually
(A) 0.74 (B) 1.00 (C) 1.19 (D) 1.12

60. The diagram which shows the correct crank positions corresponding to the opening and closing of the valves, is
known as
(A) Indicator diagram (B) Axial force diagram (C) Valve timing diagram (D) None of these

61. The tilting of the front wheels away from the vertical, when viewed from the front of the car, is called
(A) Camber (B) Caster (C) Toe in (D) Toe out

62. The ball joints are used on the tie rod ends, because they
(A) Reduce the amount of noise generated
(B) Reduce the amount of sliding resistance
(C) Can deal with movement of the suspension both vertically and in other directions
(D) Improve the force transmission speed

63. In a petrol engine, the high voltage for spark plug is in the order of
(A) 1000 volts (B) 2000 volts (C) 11 kilovolts (D) 22 kilovolts

64. For the same maximum pressure and temperature
(A) Diesel cycle is more efficient than Otto cycle
(B) Otto cycle is more efficient than Diesel cycle
(C) Both Otto cycle and Diesel cycle are equally efficient
(D) None of the above

65. The petrol engines are also known as
(A) Spark ignition (S.I.) engines (B) Compression ignition (C.I.) engines
(C) Steam engines (D) None of these

66. The difference between DOT 3 and DOT 4 brake fluids is
(A) DOT 4 fluids have a higher boiling point than DOT 3 fluid
(B) DOT 4 fluids have a lower boiling point than DOT 3 fluid
(C) DOT 3 and DOT 4 fluids have the same boiling point, but DOT 4 fluid has a longer service life
(D) DOT 4 fluid is more resistant to freezing than DOT 3 fluid
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67. The problems caused by the wheel imbalance are
(A) Hard steering and hard ride (B) Poor acceleration and hard steering
(C) Steering wheel vibrations and uneven tyre wear (D) Poor acceleration and reduced fuel efficiency

68. The formula for Iso-octane is
(A) C

8
H1

8
(B) C

7
H1

7
(C) C

6
H1

8
(D) C

7
H1

8

69. The torque converter uses ________ to transfer torque.
(A) Air (B) Automatic transmission fluid (ATF)
(C) Gears (D) Steel belt

70. The composition of the electrolyte in a fully charged battery is that
(A) The electrolyte is pure distilled water
(B) The electrolyte is pure sulphuric acid
(C) The electrolyte is a mixture of 64% distilled water and 36% sulphuric acid by weight
(D) The electrolyte is a mixture of 90% distilled water and 10% sulphuric acid by weight

71. The petrol engine works on
(A) Otto cycle (B) Carnot cycle (C) Diesel cycle (D) Rankine cycle

72. The maximum torque multiplication ratio in a torque converter is about
(A) 40 (B) 25 (C) 2.5 (D) 10

73. The cetane rating of Diesel fuel is in the order of
(A) 25 (B) 45 (C) 70 (D) 90

74. A traction control system (TCS) in automobiles controls the
(A) Vibrations on the steering wheel
(B) Engine power during acceleration
(C) Torque that is transmitted by the tyres to the road surface
(D) Stopping distance in case of emergency

75. The compression ratio of a petrol engine is nearly
(A) 4 : 1 (B) 8 : 1 (C) 15 : 1 (D) 20 : 1

76. The starter motor is driven by
(A) Chain drive (B) Gear drive (C) Flat belt drive (D) V-belt drive

77. In radial tyres
(A) One ply layer runs diagonally one way and another layer runs diagonally the other way
(B) All plies run parallel to one another and vertical to tyre bead
(C) Inner tubes are always used
(D) None of these

78. The rigid suspension is beneficial when
(A) It is desired to reduce the unsprung mass
(B) It is desired to have more flexibility in design
(C) It is desired to improve tyre to ground contact characteristics
(D) Large changes in load make it necessary to have a large suspension stroke
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79. The component in the radiator of an automobile that increases the boiling point of water is
(A) Drain plug (B) Water jacket (C) Vacuum valve (D) Pressure cap

80. In Diesel engines, the duration between the time of injection and the time of ignition is called
(A) Spill cut-off (B) Delay period (C) Injection period (D) Ignition period

81. In bias ply tyres
(A) All plies run parallel to one another
(B) Belts of steel mesh are used in the tyres
(C) One ply layer runs diagonally one way and another layer runs diagonally the other way
(D) All of the above

82. The aluminium alloy is used in cylinder blocks because
(A) It is lighter and has good heat dissipation characteristics
(B) Material cost is low
(C) It does not require any cylinder liners
(D) The piston is also made of aluminium alloy

83. The main function of the tread pattern on tyre is that
(A) The tread grooves pass air between the tyre and road surface, thereby preventing tyre from overheating
(B) The crests between the tread grooves absorb road noise
(C) In wet conditions, the tread grooves expel water that is drawn between the tyre and road surface
(D) The tread pattern protects the tyre’s inner carcass from small stones and pieces of glass

84. The most commonly used supplementary restraint system (SRS) component is
(A) Seat belt (B) Brake (C) Airbag (D) Steering

85. The major purpose of an electronically controlled automatic transmission is that this type of transmission
(A) Eliminates gear clutches
(B) Eliminates the gear shift lever
(C) Reduces the number of automatic transmission components
(D) Reduces shift shock and achieves more efficient transmission of engine torque

86. The antiknock property of compression ignition engine fuel can be improved by adding
(A) Tetraethyl lead (B) Trimethyl pentane (C) Amyl nitrate (D) Hexadecane

87. A worm gear is used as the pinion for the rack and pinion type of steering gearbox, because it
(A) Improves steering comfort when steering wheel is turned to effect small changes in the direction of forward
motion
(B) Allows the steering wheel to be turned by a greater amount when steering
(C) Makes the steering more responsive
(D) Reduces the amount of kickback for large steering angles

88. If the spark plug deposit indicates black coating of soot, it indicates that the engine has been generally operating on
(A) Too lean mixture (B) Stoichiometric mixture
(C) Most economical mixture (D) Too rich mixture

89. The crescent shaped cavity on the piston head top surface is called as
(A) Piston oil hole (B) Snap ring (C) Valve recess (D) Valve clearance



91503_17 (A)

90. The characteristic that is enhanced by the use of cylinder sleeves is
(A) Cooling efficiency (B) Resistance to wear
(C) Lubrication performance (D) None of these

91. The connecting rod connects the piston and the
(A) Cylinder head (B) Cylinder block (C) Camshaft (D) Crankshaft

92. The three basic cylinder arrangements for automotive engines are
(A) Flat, radial, and V (B) In a row, in line, and opposed
(C) In line, V, and opposed (D) V, double row, and opposed

93. The main function of the brake fluid is
(A) Lubrication (B) Power transmission (C) Cooling (D) None of these

94. Which part of the automobile tyre is subjected to greatest flexing action?
(A) Bead (B) Side wall (C) Shoulder (D) Tread

95. The compression ratio for Diesel engines usually lies in the range of
A) 6 - 10 (B) 10 - 15 (C) 15 - 25 (D) 25 - 40

96. The piston compression rings are made of
(A) Cast iron (B) Steel (C) Aluminium (D) Bronze

97. In a forced feed lubrication system, the device used to guard against excessive oil pressure, is known as
(A) Release chamber (B) Balancer (C) Relief valve (D) Stop valve

98. The aspect ratio (expressed in percentage) of the tyre is defined as the ratio of
(A) Section width to section height (B) Section height to section width
(C) Wheel diameter to section height (D) Wheel diameter to section width

99. The discharged lead acid battery has on its plates
(A) Lead peroxide (PbO

2
 ) (B) Spongy lead (Pb)

(C) Lead sulphate (PbSO
4
) (D) Sulphuric acid (H

2
 SO

4
)

100. In order to implement gear changes in the gear unit of an automatic transmission, a ___________ is used.
(A) Synchronizer (B) Planetary gear
(C) Magnetic clutch (D) Hydraulic multi plate clutch
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GENERAL APTITUDE  1.1.1.1. �काश समा�यतया कैसे चलता ह?ै  A) क� �ािभमुख वृ� म� B) एक सीधी रेखा म� C) हमेशा एक अंधेरे �े  म� D) एक घुमावदार रेखा म�  2.2.2.2. वह पहला देश जहां औ&ोिगक )ांित *ई :  A) ,ांस B) ि-टेन C) जम0नी D) यू एस ए  3.3.3.3. एक सौर जल हीटर का �योग पानी गरम करने के िलए नह2 कर सकते ह3     A) धूप वाल े5दन म� B) बादल वाले 5दन म� C) एक गरम 5दन म� D) हवादार 5दन म�  4.4.4.4.    भारत म�, पहला सूती कारख़ाना 8थािपत *आ था     A) म�ास म� B) बॉ<बे म� C) कानपुर म� D) सूरत म�  5.5.5.5.    =रगर िम>ी इसका दसूरा नाम ह ै    A) काली िम>ी B) िचकनी िम>ी C) ए=रड िम>ी D) लेटेराइट िम>ी  6.6.6.6.    तारA के िविभB समूह कहलाते ह3     A) तारामंडल B) आकाशीय Cपड C) �ु�Dह D) धूमकेतु  7.7.7.7.    5कस देश म� दो दलीय �णाली ह?ै     A) भारत B) Fी लंका C) यूनाइटेड GकHडम D) नेपाल  8.8.8.8.    िनI म� से कौन एक मै)ो पोषक ह?ै     A) Mn B) Mg C) Cu D) Zn  9.9.9.9.    वाKपीकरण कL �5)या का कारण होता ह ै    A) शीतलन B) तापन C) शुKकता D) इनम� से कोई नह2  10.10.10.10.    पृMवी के सतह पर फोकस के ठीक ऊपर का 8थान कहलाता ह ै    A) 8Qाइक B) कोमा C) एिपस�टर D) ओ=रिजन  11.11.11.11.    84 & 270 का मह�म समापवत0क ह ै    A) 8 B) 6 C) 4 D) 2  12.12.12.12.    3 के �थम पाँच गणुजA का योग ह ै:     A) 45 B) 65 C) 75 D) 90  13.13.13.13.    7:12 बराबर ह ै:     A) 28 : 40 B) 42 : 71 C) 72 : 42 D) 42 : 72  14.14.14.14.    T. 2000 का 25/4% वाUषक कL दर से 4 फरवरी 2005 से 18 अ�ेल 2005 तक कL अविध का साधारण Vाज Wात कर�     A) T. 35 B) T. 30 C) T. 25 D) T. 40  15.15.15.15.    20 संXयाY का औसत शू�य ह।ै इनम� से अिधक से अिधक 5कतनी संXयाए शू�य से अिधक हAगी?     A) 0 B) 1 C) 10 D) 19  



1503_17 (A) 11 

16.16.16.16.    एक धावक 24 सेक� ड म� 200 मीटर दौड़ता ह।ै उसकL गित ह?ै     A) 10 5कमी/घं B) 17 5कमी/घं C) 27 5कमी/घं D) 30 5कमी/घं  17.17.17.17.    �]येक ता^कक संXया ह ै A) एक �ाकृितक संXया B) एक पूणा_क C) एक वा8तिवक संXया D) एक पूण0 संXया  18.18.18.18.    एक घंटे का 5कतना दशमलव एक सेक� ड ह?ै     A) .0025 B) .0256 C) .00027 D) .000126  19.19.19.19.    एक फल िव)ेता के पास कुछ सेव ह3। वह 40% सेव बेच देता ह ै5फर भी उसके पास 420 सेव बच जाते ह3। उसके पास मूल Tप से 5कतने सेव थे?     A) 588 सेव B) 600 सेव C) 672 सेव D) 700 सेव  20.20.20.20.    A 5कसी काम को 10 5दनA म� करता ह ैऔर B उसी काम को 15 5दनA म� करता ह।ै वे साथ िमलकर उस काम को 5कतने 5दनA म� कर�ग?े     A) 5 5दन B) 6 5दन C) 7 5दन D) 8 5दन   
DOMAIN KNOWLEDGE  21.21.21.21.    वाहन म� उपकरण इंिगत करने वाला तापमान इसका तापमान इंिगत करता ह ै     (A) इंिजन िप8टन  (B) इंिजन िसिल�डर (C) िचकनाई तेल  (D) जैकेट शीतलन जल  22.22.22.22.    दो सामा�य �कार के टायर ह3      (A) aूब �कार और aूब रिहत  (B) ठोस और aूब रिहत  (C) हवा और �यूमे=टक   (D) ि8पलट =रम और bॉप स�टर  23.23.23.23.    एक 12 वॉcट कर बैटरी म� 5कतने सेल का �योग होता ह?ै     (A) 2 (B) 4 (C) 6 (D) 8  24.24.24.24.    कैम कL गित वाcव तक ______के माdयम से ह8तांत=रत कL जाती ह.ै     (A) िप8टन (B) रॉकर आम0  (C) कैमशाeट पूली  (D) वाcव 8टेम  25.25.25.25.    इंिजन िसिलन्डर के भीतर िवकिसत ऊजा0 कहलाती ह ै     (A) इंिडकेटेड ऊजा0  (B) इनम� से कोई नह2  (C) घष0ण ऊजा0  (D) -ेक ऊजा0   26.26.26.26.    य5द एक 8पाक0  इिfशन इंिजन म� हवा-gधन िमFण ब*त घना है तो हवा-gधन अनुपात लगभग होगा      (A) 17:1 (B) 10:1 (C) 13:1 (D) 15:1  27.27.27.27.    पेQोल जो आसानी से इंिगत करता ह ैवह कहलाता ह ै     (A) hल�डेड gधन  (B) अनलीडेड पेQोल  (C) उi ऑkटेन पेQोल  (D) िनI ऑkटेन पेQोल  28.28.28.28.    aूब �कार के टायर कL तुलना म� aूब तािहत टायर का लाभ ह ै     (A) धीमा हवा =रसाव  (B) बेहतर gधन द�ता  (C) फटने कL कम संभावना  (D)  इनम� से सभी 
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29.29.29.29.    एकल शुKक lलेट kलच म�, टोश0नल अनुकंपन इसके mारा अवशोिषत होती ह ै     (A) टोश0नल C8�ग के Tप म� Wात nाएल C8�ग  (D) kलच पैडल   (C) स�Qल हब   (B) कुशन C8�ग  30.30.30.30.    एक इलेkQोकेिमकल यं  म� बैटरी, इसका अथ0 ह ैबैटरी     (A) इलेkQोलाइट का �योग नह2 करती ह ै (B) सपाट lलेट कL तुलना म� घुमाव lलेट रखती ह ै (C) िबजली �दान करने के िलए रासायिनक �5)या का �योग करती ह ै (D) यांि क साधनA से रसायन बनाती ह ै 31.31.31.31.    एक अिधक फुला *आ टायर इसके नजदीक टूटेगा और फटेगा     (A) बीच म�  (B) 5कनारे पर  (C) कोने पर  (D) इनम� से कोई नह2  32.32.32.32.    डीजल का कैलोरी मान लगभग होता ह ै    (A) 36.5 MJ/kg (B) 38.5 MJ/kg (C) 42.5 MJ/kg (D) 45.5 MJ/kg  33.33.33.33.    तेल िनयं ण oरग का काय0 यह ह ै5क यह     (A) एक सील रखता ह ैआउर जल े*ए गैसA के बाहर िनकलने तथा तेल =रसाव को रोकता ह ै (B) इंिजन तेल को दहन क� तक जाने से रोकता ह ैऔर िप8टन के िछ� से होकर तेल पैन तक िसिल�डर से अिधक िचकनाई तेल को रोकता ह ै (C) इसके िछ� से तेल िनकालकर िसिल�डर दीवार को िचकनाई देता ह ै (D) िसिल�डर के चैनल म� तेल को जमा रखते *ए इस दीवार को िचकना रखता ह ै 34.34.34.34.    एक Qांसिमशन �णाली म� 8पर गीयर तुलना म� हिेलकल गीयर �योग करने का लाभ ह ै    (A) शोर 8तर और स8ता होना  (B) शोर 8तर और शिp  (C) शिp और कम अंितम �ेरण (D) शिp और लागत  35.35.35.35.    -ेक वाqनग �काश चालक को चेतावनी देता ह ै    (A) शिp -ेक खराब होना  (B) मा8टर िसिल�डर म� पानी  (C) हाइbोिलक �णाली म� हवा  (D) हाइbोिलक �णाली कL पहली या दसूरी प=रपथ का खराब होना  36.36.36.36.    संपक0  छड़ समा�यतया ______ आकार के ितय0क-काट से बना होता ह ै    (A) I (B) H (C) L (D) C  37.37.37.37.    वाcव िkलयर�स को बनाए रखना जTरी ह ैkयA5क वे      (A) )3कशाeट को आसानी से घुमाते ह3   (B) उस गित को बढ़ाता ह ैिजसपर वाcव ऊपर और नीचे जाता ह ै (C) दहन के ताप के कारण वाcव को लंबा कर देता ह ै (D) �ितरोध को 8लाइCडग तक घटना जो कैम और टेपेट के बीच होता ह ै   
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38.38.38.38.    िसिल�डर 8लीव के भीतरी सतह कL पैना करके बढ़ाई गई िवशेषता ह ै     (A) शीतलन द�ता  (B) टूटने का �ितरोध  (C) िचकनाई काय0 िनKपादन  (D) इनम� से कोई नह2  39.39.39.39.    य5द 8पाक0 -lलग म� 8पाक0  होने से पहल ेहवा-gधन िमFण इfाइट होता ह,ै यह अव8था कहलाती ह ै     (A) िडटोनेशन  (B) इिfशन  (C) �ी-इिfशन  (D) रंबल  40.40.40.40.    एक बैटरी म� अ<ल के िविशr गुs]व कL जांच करने के िलए �युp यं  ह ै     (A) हाइbोमीटर  (B) हाइDोमीटर  (C) एनीमोमीटर  (D) मcटीमीटर  41.41.41.41.    एक िवशेष इनलाइन चार िसिल�डर इंिजन के )3कशाeट म� ________ संतुलन भार होते ह3.     (A) 12 (B) 4 (C) 16 (D) 8  42.42.42.42.    बड़ी मा ा म� HC उ]सज0न म� फिलत होने वाली ि8थित ह ै     (A) उi तापमान दहन  (B) अपूण0 दहन  (C) िनI तापमान दहन  (D) उi वायुमंडलीय तापमान दहन  43.43.43.43.    इंिजन तेल कL tयानता ___________ रेoटग mारा प=रभािषत होती ह ै    (A) Automatic transmission fluid (ATF) (B) Society of automotive engineers (SAE)  (C) Gross vehicle weight (GVW) (D) American petroleum institute (API)  44.44.44.44.    एक लडे अ<ल बैटरी के ऋणा]मक lलेट म� होता ह ै    (A) Lead peroxide (PbO2) (B) Spongy lead (Pb)  (C) Lead sulphate (PbSO4) (D) Sulphuric acid (H2SO4)  45.45.45.45.    bाइव-शाvट िडफेरेि�शयल और पिहया हब से यूिनवस0ल जोड़ के माdयम से जुड़ा रहता ह ैkयA5क यूिनवस0ल जोड़     (A) रोड के सतह से 5दए गए अनुकंपन को अवशोिषत करता ह ै (B) िडफेरेि�शयल और पिहया के तुलना]मक अव8था म� बदलाव कL पूUत करता ह ैजो उथल ेरोड सतह या अ�य समान चालन प=रि8थितयA म� फिलत होता ह ै (C) जब वाहन घूम रहा हो तब बाएँ उर दाएँ पिहये के बीच कL गित म� अंतर अवशोिषत करता ह ै (D) उपयु0p म� से कोई नह2  46.46.46.46.    वािणिwयक Tप से उपलhध पेQोल कL ऑkटेन रेoटग होती ह ै    (A) 85 - 95 (B) 95 - 100 (C) 100 - 110 (D) 110 – 125  47.47.47.47.    वाहन पर चलना आरामदायक होगा य5द     (A) अन8�ंग �Vमान को �यूनतम पर रखा जाय (B) 8�ंग �Vमान को �यूनतम पर रखा जाय  (C) वाहन �Vमान को �यूनतम पर रखा जाय (D) इनम� से सभी  48.48.48.48.    एक 8पाक0  इिfशन इंिजन म� ऑटो इिfशन का अथ0 ह ै    (A) संकुचन के अंत म� आवेश का 8वयं इिfशन  (B) एक 8पाक0  के पैसेज mारा इिfशन करना  (C) लपट ,ंट के पैसेज के पहल ेआवेश का इिfशन करना  (D) सामा�य दहन कL �5)या कL अनुपूUत के िलए इिfशन करना  
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49.49.49.49.    जब -ेक पेडल मुp lल ेिन^दr मान से कम होता ह ैतो     (A) -ेक bेग करता ह ै  (B) -ेक फेड करता ह ै (C) -ेक लाइन म� वाKप बंद हो जाता ह ै (D) एंटीलॉक -ेGकग िस8टम काम नह2 करता ह ै 50.50.50.50.    ओटोमीबाईल बैटरी म� �युp अ<ल ह ै    (A) हाइbोkलो=रक अ<ल (B) हाइbोvलु=रक अ<ल (C) नाइ=Qक अ<ल (D) सcvयू=रक अ<ल  51.51.51.51.    उiतम उपयोगी संकुचन अनुपात (HUCR) 5कसपर सबसे बड़ा संकुचन अनुपात ह ै    (A) इंिजन चल सकता ह ै (B) इंिजन अिधकतम आउटपुट देता ह ै (C) इंिजन सवा0िधक द� होता ह ै (D) gधन का �योग एक परी�ण इंिजन म� िबना नोGकग के 5कया जा सकता ह ै 52.52.52.52.    एक कर का पेQोल इंिजन 2700 r.p.m. पर 125 Nm टोक0  देता ह।ै कार को दसूरे गीयर म� चलाया जा रहा ह ैिजसका गीयर अनुपात 1.75 ह।ै अंितम चालन अनुपात 4.11 ह।ै य5द पूण0 �सरण द�ता 90% ह ैतो चािलत पिहये म� उपलhध टोक0  होगा     (A) 8.091 Nm (B) 80.91 Nm (C) 809.1 Nm (D) 8091 Nm  53.53.53.53.    एक 8पाक0  lलग के स�Qल इलेkQोड और Dाउंड (या साइड) इलkेQोड के बीच का वायु अंतर लगभग ह ै    (A) 0.2 mm (B) 0.5 mm (C) 1 mm (D) 1.5 mm  54.54.54.54.    5कसी चार िसिल�डर इंिजन कL �मता 2.4 लीटर ह।ै एक िसिल�डर का 8वेlट मान होगा     (A) 400 cm³ (B) 600 cm³ (C) 1200 cm³ (D) 2400 cm³  55.55.55.55.    एक लीड अ<ल बैटरी के धना]मक lलेट म� होता ह ै     (A) लीड परोkसाइड (PbO2) (B) 8पAजी लीड (Pb)  (C) लीड सcफेट (PbSO4)  (D) सcvयू=रक अ<ल (H2SO4)  56.56.56.56.    एक रेिडयल टायर कL तुलना म� बायस lलाई टायर का एक लाभ ह ै    (A) लंबा जीवन काल  (B) िनI घूण0न �ितरोध  (C) कम गित पर आसान सवारी (D) इनम� से कोई नह2  57.57.57.57.    एक मcटी िसिल�डर �कार के िसिल�डर 8लीव का मुXय गुण ह ै    (A) छोटा इंिजन आयाम (B) बेहतर शीतलन द�ता (C) उi कठोरता (D) इनम� से कोई नह2  58.58.58.58.    प�ट म� िथनर िमलाया जाता ह ैता5क     (A) रंग और रेिसन आसानी से िमल जाएँ (B) प�ट परत को कडा बनाया जा सके  (C) इसकL tयानता अिधकतम कL जा सके (D) इनम� से कोई नह2  59.59.59.59.    जा बैटरी आधा (50%) आवेिशत हो, तो एक बैटरी म� अ<ल कL िविशr गुs]वाकष0ण होगा।     (A) 0.74 (B) 1.00 (C) 1.19 (D) 1.12  60.60.60.60.    वह आरेख जो वाcव कL ओपेCनग और kलोCजग म� सही )3क अव8था 5दखाता ह,ै कहलाता ह ै    (A) इंिडकेटर आरेख (B) xुवीय बल आरेख (C) वाcव समय आरेख (D) इनम� से कोई नह2    
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61.61.61.61.    जब एक कार को सामने से देखा जाता ह ैतब वyटकल से दरू सामने के पिहये का झुकाव कहलाता ह ै    (A) कै<बर (B) का8टर (C) टो इन (D) टो आउट  62.62.62.62.    बॉल जोड़A को बंधे छड़ के िसरे पर �योग 5कया जाता ह ैkयA5क वे     (A) हो रह ेशोर को कम कार देते ह3    (B) सरकते �ितरोध को कम कार देते ह3  (C) स8प�सन कL गित को ल<बवत और अ�य 5दशा म� भी रख सकते ह3  (D) �बिलत Qांसिमशन गित म� सुधार ला सकता ह ै 63.63.63.63.    एक पेQोल इंिजन म� 8पाक0  lलग के िलए उi वोcटेज इस )म म� होता ह ै    (A) 1000 वॉcट (B) 2000 वॉcट (C) 11 5कलोवाट (D) 22 5कलो वॉcट  64.64.64.64.    समान अिधकतम दबाव और तापमान के िलए     (A) डीजल च) ओटो च) से अिधक स�म ह ै (B) ओटो च) डीजल च) से अिधक स�म ह ै (C) ओटो च) और डीजल च) दोनA समान Tप से स�म ह3 (D) उपयु0p म� से कोई नह2  65.65.65.65.    पेQोल इंिजन को यह भी कहा जाता ह ै    (A) 8पाक0  इिfशन (S.I.) इंिजन (B) कं�ेसन इिfशन (C.I.) इंिजन  (C) वाKप इंिजन   (D) इनम� से कोई नह2  66.66.66.66.    DOT 3 और DOT 4 -ेक �V के बीच का अंतर ह ै    (A) DOT 4 म� DOT 3 �V कL तुलना म� उiतम �वनांक होता ह ै  (B) DOT 4 म� DOT 3 �V कL तुलना म� िनIतम �वनांक होता ह ै  (C) DOT 4 और DOT 3 �VA म� समान �वनांक होता ह ैले5कन DOT 4 �V का जीवन काल लंबा होता ह ै  (D) DOT 4 म� DOT 3 �V कL तुलना म� अिधक जमांक �ितरोध  होता ह ै 67.67.67.67.    पिहया असंतुलन के कारण *ई सम8या ह ै    (A) कड़ा ि8टयoरग और कड़ी सवारी (B) खराब ]वरण और कड़ा ि8टयoरग  (C) ि8टयoरग पिहया अनुकंपन औए असमतल टायर टूट (D) खराब ]वरण और घटा *आ gधन द�ता  68.68.68.68.    आइसो-ओkटेन का सू  ह ै    (A) C8H18 (B) C7H17 (C) C6H18 (D) C7H18  69.69.69.69.    टोक0  कंवट0र _____ �योग टोक0  Qां8फर से िलए करता ह।ै     (A) हवा   (B) 8वचािलत Qांसिमशन �V (ATF)  (C) गीयर  (D) इ8पात बेcट  70.70.70.70.    एक पूण0 आवेिशत बैटरी म� इलkेQोलाइट का गठन यह ह ै5क     (A) इलेkQोलाइट शुz िडि8टcड पानी ह ै (B) इलेkQोलाइट शुz सcvयू=रक अ<ल ह ै (C) इलेkQोलाइट भार म� 64% िडि8टcड पानी और 36% सcvयू=रक अ<ल का एक िमFण है  (D) इलेkQोलाइट भार म� 90% िडि8टcड पानी और 10% सcvयू=रक अ<ल का एक िमFण है   
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71.71.71.71.    पेQोल इंिजन इसपर काय0 करता ह ै    (A) ओ>ो च) (B) कान{ट च) (C) डीजल च) (D) रं5कन च)  72.72.72.72.    एक टोक0  कंवट0र म� अिधकतम टोक0  गुिणत अनुपात लगभग ह ै    (A) 40 (B) 25 (C) 2.5 (D) 10  73.73.73.73.    डीजल gधन कL सीटेन रेoटग इस )म म� होती ह ै    (A) 25 (B) 45 (C) 70 (D) 90  74.74.74.74.    ऑटोमोबाइल म� Qेkशन िनयं ण �णाली (TCS) िनयंि त करती ह ै     (A) ि8टयoरग पिहये का अनुकंपन (B) ]वरण के दौरान इंिजन शिp  (C) रोड सतह पर टायर mारा 5दया गया टोक0  (D) आपातकालीन ि8थित म� रोकने भर कL दरूी  75.75.75.75.    एक पेQोल इंिजन का संकुचन अनुपात लगभग होता ह ै    (A) 4 : 1 (B) 8 : 1 (C) 15 : 1 (D) 20 : 1  76.76.76.76.    8टाट0र मोटर इससे चलाया जाता ह ै    (A) चेन bाइव (B) गीयर bाइव (C) सपाट बेcट bाइव (D) V-बेcट bाइव  77.77.77.77.    रेिडयल टायर म�     (A) एक lलाई परत ितरछे Tप से एक तरफ और दसूरा परत ितरछे Tप से दसूरी तरफ चलता है  (B) सभी lलाई एक दसूरे के समानांतर आर टायर बेड पर ल<बवत चलता ह ै (C) भीतरी aूब का हमेशा �योग होता ह ै (D) इनम� से कोई नह2  78.78.78.78.    कठोर स8प�सन लाभकारी होता है जब     (A) इसकL आवtयकता अन8�ंग �Vमान कम करने के िलए होती ह ै (B) इसकL आवtयकता िडजाइन म� अिधक लिचलापन लाने के िलए होता ह ै (C) इसकL आवtयकता टायर कL भूिम संपक0  िवशेषता सुधारने के िलए होती ह ै (D) भार म� बड़ा प=रवत0न बड़ा स8प�सन आघात के िलए आवtयक होता ह ै 79.79.79.79.    एक ऑटोमोबाइल के रेिडएटर का अवयव जो जल का �वनांक बढ़ाता ह,ै वह ह ै    (A) bेन lलग (B) पानी जैकेट (C) िनवा0त वाcव (D) दबाव कैप  
80. डीजल इंिजन म�, इंजेkशन और इिfशन के बीच का समय कहलाता ह ै
 (A) 8पील कट-ऑफ (B) देरी अविध (C) इंजेkशन अविध (D) इिfशन अविध  81.81.81.81.    बायस lल ेटायर म�     (A) सभी lलाई एक दसूरे के समानांतर चलते ह3   (B) इ8पात मेश का बेcट टायर म� �योग होता ह ै (C) एक lलाई परत ितरछे Tप म� एक तरफ और दसूरी परत ितरछे Tप म� दसूरी तरफ चलती है  (D) उपयु0p सभी     
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82.82.82.82. िसिल�डर hलोkस म� अcयुमीिनयम िमF धातु का �योग होता ह ैkयA5क     (A) यह हcका होता ह ैऔर अ|छा ताप �सरण गुण होता ह ै (B) सामDी लागत कम होती ह ै (C) इसके िलए कोई िसिल�डर लाइनर कL ज़Tरत नह2 होती ह ै (D) िप8टन भी अcयुमीिनयम िमF धातु से बना होता ह ै 83.83.83.83.    टायर पर Qेड पैटन0 का मुXय काय0 यह ह ै5क     (A) टायर और रोड सतह के बीच Qेड खांचा से बहने वाली हवा टायर को अिधक गरम होने से रोकती ह ै (B) Qेड खांचा के बीच 5क दरार शोर अवशोिषत करता ह ै (C) आ�0 अव8था म�, टायर और रोड सतह के बीच आने वाले पानी को Qेड खांचा हटाता ह ै (D) Qेड पैटन0 छोटे प]थरA और काँच के टुकड़े से टायर 5क भीतरी परत को बचाता ह ै 84.84.84.84.    सबसे सामा�य �युp अनुपूरक �ितरोध �णाली (SRS) का अवयव ह ै    (A) सीट बेcट (B) -ेक (C) एयरबैग (D) ि8टयoरग  85.85.85.85.    एक इलेkQोिनक Tप से िनयंि त 8वचालन Qांसिमशन का मुXय उ~ेtय यह ह ै5क Qांसिमशन     (A) गीयर kलच हटाता ह ै (B) गीयर िशvट लीवर हटाता ह ै (C) 8वचािलत Qांसिमशन अवयव 5क संXया कम करता ह ै (D) िशvट शॉक घटाता ह ैऔर इंिजन टोक0  का अिधक द� Qांसिमशन �ा� करता ह ै 86.86.86.86.    कं�ेसन इिfशन इंिजन gधन कL एंटीनोक गणु इसको िमलाकर सुधारी जा सकती ह ै    (A) टेQाइथाइल लीड (B) Qाइिमथाइल प�टेन (C) एिमल नाइQेट (D) हkेसाडेकेन  87.87.87.87.    एक वम0 गीयर का �योग रेक के पीिनयन और ि8टयoरग गीयर बॉkस का पीिनयन �कार के िलए �युp होता ह,ै kयA5क यह     (A) ि8टयoरग आराम सुधरता ह ैजब ि8टयoरग पिहया को अDगामी गित कL 5दशा म� छोटे प=रवत0न करने के िलए इसे घुमाया जाता ह ै (B) ि8टयoरग के दौरान ि8टयoरग पिहया को अिधक घुमाना पड़ता ह ै (C) ि8टयoरग को अिधक =र8पAिसव करता ह ै (D) बड़े ि8टयoरग कोण के िलए कLकबैक कL मा ा कम करता ह ै 88888888....    य5द 8पाक0  lलग का जमाव कािलख कL काली परत इंिगत करता ह ैतो यह इंिगत करता ह ै5क इंिजन सामा�य Tप से काय0 कार रहा था     (A) ब*त पतल ेिमFण पर  (B) 8टोई5कयोमे=Qक िमFण पर  (C) सबसे स8ते िमFण पर  (D) ब*त भारी िमFण पर  89.89.89.89.    िप8टन शीष0 सतह पर चापाकार कोटर कहलाता ह ै    (A) िप8टन तेल िछ� (B) �ेप oरग (C) वाcव रेसेस (D) वाcव िkलयर�स  90.90.90.90.    िसिल�डर 8लीव का �योग कार बढ़ाई गई िवशेषता ह ै    (A) शीतलन द�ता (B) टूट का �ितरोध (C) िचकनाई काय0 िनKपादन (D) इनम� से कोई नह2    
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91.91.91.91.    कनेCkटग रोड िप8टन और _____ कनेkट करता ह ै    (A) िसिल�डर हडे (B) िसिल�डर hलॉक (C) कैमशाeट (D) )3कशाeट  92.92.92.92.    ओटोमो=टव इंिजन के िलए तीन मूल िसिल�डर Vव8था ह ै    (A) vलैट, रेिडयल और V  (B) एक )म म�, लाइन म� और िवपरीत  (C) लाइन म�, V और िवपरीत (D) V, दोहरा क्रम, और िवपरीत  93.93.93.93.    -ेक �V का मुXय काय0 ह ै    (A) िचकनाई देना  (B) ऊजा0 Qांसिमशन   (C) शीतलन    (D) इनम� से कोई नह2  94.94.94.94.    ऑटोमोबाइल टायर का कौन सा भाग अिधक vलेkशन काय0 करता ह?ै     (A) बेड (B) बगल कL दीवार (C) शोcडर (D) Qेड   95.95.95.95.    डीजल इंिजन के िलए संकुचन अनुपात अkसर इस सीमा म� रहता है      A) 6-10 (B) 10-15 (C) 15-25 (D) 25-40  96.96.96.96.    िप8टन संकुचन वलय इससे बना होता है     (A) ढलवां लोहा (B) इ8पात (C) अcयुमीिनयम (D) कांसा  97.97.97.97.    एक �बिलत फLड िचकनाई �णाली म�, अ]यिधक तेल दबाव से बचाने के िलए �युक्त उपकरण कहलाता ह ै    (A) =रलीज च3बर (B) बैल�सर (C) =रलीफ़ वाcव (D) 8टॉप वाcव  98.98.98.98.    टायर का आ8पेkट अनुपात (�ितशत म� Vp ) इसके अनुपात के Tप म� प=रभािषत होता ह ै    (A) सेkसन चौड़ाई से सेkसन ऊंचाई (B) सेkसन ऊंचाई से सेkसन चौड़ाई  (C) पिहया Vास से सेkसन ऊंचाई (D) पिहया Vास से सेkसन चौड़ाई  99.99.99.99.    िड8चाज0 लीड अ<ल बैटरी म� उसके lलेट पर होता है     (A) लीड परोkसाइड (PbO₂) (B) 8पAजी लीड (Pb)  (C) लीड सcफेट (PbSO₄)  (D) सcvयू=रक अ<ल (H₂SO₄)  100.100.100.100.    एक 8वचािलत Qांसिमशन कL गीयर यूिनट म� गीयर प=रवत0न लाग ूकरने के िलए ___________ �योग होता ह।ै     (A) Cस)ोनाइजर  (B) lलेनेटरी गीयर  (C) चु<बकLय kलच  (D) हाइbोिलक मcटी lलेट kलच            
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GENERAL APTITUDEGENERAL APTITUDEGENERAL APTITUDEGENERAL APTITUDE        1.1.1.1. ஒளி வழ�கமாக எ�ப
 பயணி�கிற�?     A) ஒ�ைமய வ�ட�களி�  B) ஒ� ேந��ேகா�
�  C) எ�ேபா�� ஒ� இ��ட பர�ைப ேநா�கி D) ஒ� வைள�த ேகா�
�  2.2.2.2. ெதாழி� "ர�சி�$ உ&ளான (தலாவ� நா*:     A) பிரா+, B) பிாி�ட+ C) ெஜ�மனி D) USA  3.3.3.3. எ�த நாளி� ெவ�நீைர ெப/வத0$ ஒ� ேசாலா� வா�ட� ஹீ�டைர பய+ப*2த (
யா�?     A) ஒ� ெவயி� மி$�த நா&  B) ஒ� ேமக3�டமான நா&  C) ஒ� 4டான நா&  D) ஒ� கா0ேறா�ட� மி$�த நா&  4.4.4.4. இ�தியாவி�, (தலாவ� ப5சாைல எ�$ அைம�க�ப�ட�?     A) ெம�ரா,  B) பா�ேப C) கா+7� D) 4ர2  5.5.5.5. காிச� ம� எ+ப� எத8ைடய ம0ெறா� ெபய� ஆ$�?     A) க/�" ம� B) வ�ட� ம� C) வற�ட ம� D) ெச�ம�  6.6.6.6. ந�ச2திர�களி+ ெவ:ேவ/ ெதா$தி எ�ப
 அைழ�க�ப*கிற�?     A) ந�ச2திர2 ெதா$திக& B) வி�ெபா��க& C) $/�ேகா&க& D) வா� ந�ச2திர�  7.7.7.7. எ�த நா* இ� க�சி அைம�ைப ெகா�*&ள�?     A) இ�தியா B) இல�ைக C) ;ைன�ட� கி�ட� D) ேநபாள�  8.8.8.8. பி+வ�வனவ0/& எ� ஒ� ெப� ஊ�ட=ச2� ஆ$�?     A) Mn B) Mg C) Cu D) Zn  9.9.9.9. ஆவியாத� ெசய�(ைற எைத ஏ0ப*2�கிற�?     A) $ளிேர0ற�  B) 4ேட0ற�  C) உல�?  D) இவ0/& எ�?மி�ைல  10.10.10.10. 7மியி+ ேம0பர�பி� இ��$� $விைமய2தி0$ ேந� ேமேல உ&ள இட� எ�ப
 அைழ�க�ப*கிற�?     A) ,�ைர� B) கமா C) எ�பிெச+ட� D) ஒாிஜி+  11.11.11.11. 84 & 270 ஆகியவ0றி+ HCF (மீ�ெப� ெபா��காரணி) –     A) 8 B) 6 C) 4 D) 2  12.12.12.12. 3 எ+ற எ�ணி+ (தலாவ� ஐ�� ெப��க�க&:     A) 45 B) 65 C) 75 D) 90  13.13.13.13. 7 : 12 எ+ப� எத0$ சமமான�:     A) 28 : 40 B) 42 : 71 C) 72 : 42 D) 42 : 72  14.14.14.14. 2005 பி�ரவாி 4� ேததி (த� 2005 ஏ�ர� 18� ேததி வைர தலா ஒ� ஆ�*�$ 25/4% எ+ற விகித2தி� A. 2000 மீதான தனிவ�
ைய க�டறிக.     A) A. 35 B) A. 30 C) A. 25 D) A. 40  15.15.15.15. 20 எ�களி+ சராசாி Bழிய� ஆ$�. அ�த எ�கC&, அதிகப�சமாக, எ2தைன எ�க& Bழிய2ைத விட ெபாியதாக இ��$�?     A) 0 B) 1 C) 10 D) 19     
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16.16.16.16. ஒ� தடகள Dர� 24 விநா
களி� 200 மீ�ட�க& ஓ*கிறா�. அவாி+ ேவக� எ+ன?     A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr  17.17.17.17. ஒ:ெவா� விகித(/ எ�F� –     A) ஒ� இய� எ� ஆ$�  B) ஒ� நிைற எ� ஆ$� C) ஒ� ெமG எ� ஆ$� D) ஒ� (H எ� ஆ$�  18.18.18.18. ஒ� மணிேநர2தி+ எ+ன தசம எ� ஒ� விநா
 ஆ$�?     A) .0025 B) .0256 C) .00027 D) .000126  19.19.19.19. ஒ� பழ வியாபாாி ெகா5ச� ஆ�பி&கைள ைவ2தி��தா�. அவ� 40% ஆ�பி&கைள வி0பைன ெசGத பிற$ அவாிட� 420 ஆ�பி&க& எ5சி இ��கி+றன. அ�ப
யானா�, அவ� ஆர�ப2தி� எ2தைன ஆ�பி&கைள ைவ2தி��தா�?     A) 588 ஆ�பி&க& B) 600 ஆ�பி&க& C) 672 ஆ�பி&க& D) 700 ஆ�பி&க&  20.20.20.20. A எ+பவ� ஒ� பணிைய 10 நா�களி� ெசG� (
�கிறா�, B அேத பணிைய 15 நா�களி� ெசG� (
�கிறா�. அேத பணிைய அவ�க& இ�வ�� ஒ+றாக ேச��� ெசGதா� எ2தைன நா�களி� (
�பா�க&?     A) 5 நா�க& B) 6 நா�க& C) 7 நா�க& D) 8 நா�க&    DOMAINDOMAINDOMAINDOMAIN    KNOWLEDGEKNOWLEDGEKNOWLEDGEKNOWLEDGE        21.21.21.21.    வாகன�களி� உ&ள ெவ�பநிைலைய B�
�கா�*� இ+
ேக�ட� எத+ ெவ�பநிைலைய B�
�கா�*கிற�?     A) எ+ஜி+ பி,ட+  B) எ+ஜி+ சிJ�ட�  C) K�ாிேக�
� ஆயி� D) ஜா�ெக� $ளி� நீ� 22.22.22.22.    இர�* வைகயான டய�க& யாைவ?  (A) 
L� உ&ள டய� ம0/� 
L� இ�லாத டய� (B) திடமான� ம0/� 
L� இ�லாத�   (C) கா0/ ம0/� கா0றா� இய�க�M
ய�  (D) ,பிளி� ாி� ம0/� 
ரா� ெச+�ட� 23.23.23.23.    ஒ� 12 ேவா�� கா� ேப�டாியி� எ2தைன ெச�க& பய+ப*2த�ப*கி+றன?  (A) 2 (B) 4 (C) 6 (D) 8 24.24.24.24.     ______ ஊடாக ேக�மி+ இய�கமான� வா�?கC�$ இடமா0ற�ப*கிற�  (A) பி,ட+க& (B) ரா�க� ஆ��,  (C) ேக�ஷாஃ�� "�J (D) வா�? ,ெட�, 25.25.25.25.    எ+ஜி+ சிJ�ட��$& உ�ைமயி� உ�வா$� ஆ0/திற+ எ�ப
 அைழ�க�ப*கிற�?  (A) B�
�கா�ட�ப�ட ஆ0/திற+ (B) இவ0/& எ�?மி�ைல   (C) உராG? ஆ0/திற+   (D) பிேர� ஆ0/திற+ 26.26.26.26.    ஒ� ,பா�� இ�னிஷ+ எ+ஜினி� உ&ள கா0/ எாிெபா�& கலைவ மிக?� அதிகமாக இ��தா�, அ�ேபா� கா0/ எாிெபா�& கலைவ ஏற2தாழ எ�ப
 இ��$�?     (A) 17:1 (B) 10:1 (C) 13:1 (D) 15:1 27.27.27.27.    எளிதி� அதி� (ழ�க2�ட+ ெவ
�$� ெப�ேரா� எ�ப
 அைழ�க�ப*கிற�?     (A) பிெள�ட�* எாிெபா�& (B) அ+Pட* ெப�ேரா�   (C) உய� ஆ�ேட+ ெப�ேரா�  (D) $ைற�த ஆ�ேட+ ெப�ேரா� 28.28.28.28.    
L� உ&ள டயைர விட 
L� இ�லாத டயாி� உ&ள ஒ� சாதக� எ+ன?     (A) ெம�வான கா0/ கசி?  (B) ேம�ப�ட எாிெபா�& ெசய�திற+  (C) த�ைடயாக ஓ*வத0$ $ைற�த வாG�"க&  (D) இைவ அைன2�� 29.29.29.29.    ஒ� ஒ0ைற 
ைர பிேள� கிள�=சி�, அதி�?க& எத+ 3ல� உறி5ச�ப*கி+றன?     (A) (/�ேகறிய ,�ாி�$க& என அைழ�க�ப*� காயி� ,�ாி�$க&  (B) ெம2ைத ,�ாி�$க&  (C) ெச+�ர� ஹ�   (D) கிள�= ெபட�  
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30.30.30.30.    ேப�டாி எ+ப� ஒ� மி+ேவதி சாதன� ஆ$�, அதாவ� ேப�டாியான� –     (A) ஒ� எல��ேராைல�ைட பய+ப*2�வதி�ைல  (B) த�ைடயான பிேள�*கC�$ பதிலாக வைள�த பிேள�*ைள ெகா�*&ள�  (C) மி+சார2ைத வழ�$வத0$ ேவதி விைனைய பய+ப*2�கிற�  (D) இய�திரவிய� வழி(ைறயாக ேவதி�ெபா��கைள உ�வா�$கிற�  31.31.31.31.    மிக அதிகமாக கா0றைட�க�ப�ட ஒ� டய� எத+ அ�கி� �ெரைட ேதய=ெசG;�?     (A) ைமய�  (B) விளி�"க&  (C) 3ைலக&  D) இவ0/& எ�?மி�ைல 32.32.32.32.    QசJ+ கேலாாி�ெப/மான� ஏற2தாழ எ:வள??   (A) 36.5 MJ/kg (B) 38.5 MJ/kg (C) 42.5 MJ/kg (D) 45.5 MJ/kg 33.33.33.33.    ஆயி� க�*�பா�* ாி�$களி+ ெசய�பா* எ+னெவனி� இ� –      (A) ஒ� அைட�ைப பராமாி�கிற� ம0/� எாி�த வா;�க& த�பி�காமR� ஆயி� கசிைவ;� த*�கிற�  (B) எ+ஜி+ ஆயிைல எாித� அைற�$& ெச�வதி� இ��� த*�கிற� ம0/� சிJ�ட� Bவைர வி�* ெவளிேய உ&ள அதிக�ப
யான K�ாிேக�
� ஆயிைல பி,டனி� உ&ள தி��ப அ8�"� �ைளகளி+ வழியாக ஆயி� ேப8�$& தி��ப அ8�"கிற�  (C) சிJ�ட� Bவைர அத+ �ைளயி� இ��� ஆயிைல ெவளியி*வத+ 3ல� பிBபிB�க= ெசGகிற�  (D) சிJ�ட� Bவைர அத+ ேசனJ� தா�கி�பி
�பத+ 3ல� அைத பிBபிB�பாக ைவ2தி��கிற�  34.34.34.34.    ஒ� ெசR2�ைக அைம�பி� ,ப� கிய�கைள விட ெஹJ�க� கிய�கைள பய+ப*2�வதி� இ��$� இர�* சாதக�க&யாைவ?     (A) இைர=ச� அள? ம0/� சி�கன� (B) இைர=ச� அள? ம0/� வJைம  (C) வJைம ம0/� $ைறவான Sனி உ��த�  (D) வJைம ம0/� ஆ�கவிைல  35.35.35.35.    பிேர� எ=சாி�ைக விள�$ ஓ�*ந��$ எைத� ப0றி எ=சாி�கிற�?     (A) பவ� பிேர� ெசய� இழ�"  (B) மா,ட� சிJ�டாி� நீ�  (C) ைஹ�ராJ� அைம�பி� உ&ள கா0/  (D) ைஹ�ராJ� அைம�பி+ (த�நிைல அ�ல� இர�டா� நிைல ச��L�
+ ெசயJழ�"  36.36.36.36.    கன�
� ரா*க& ெபா�வாக __________ வ
வ(&ள $/�$ெவ�* அைம�பா� தயாாி�க�ப*கி+றன.     (A) I (B) H (C) L (D) C 37.37.37.37.    வா�? கிளியர+,கைள பராமாி�க ேவ�
ய� அ2தியாவசியமா$�, ஏென+றா� அைவ     (A) கிரா�Tாஃ��ைட ெம+ைமயாக தி��"கி+றன  (B) வா�?க& ேமR� கீHமாக நக�� ேவக2ைத அதிகாி�கி+றன  (C) எாிதJ+ ெவ�ப2தி+ காரணமாக வா�?களி+ நீள2ைத அ8மதி�கி+றன  (D) ேக� ம0/� ேட�ெப� இைடேய ஏ0ப*� வH�$தR�$ எதி��"2திறைன $ைற�கி+றன 38.38.38.38.    சிJ�ட� ,P:க& உ�"ற ேம0பர�பி+ ேஹானி�கா� ேம�ப*2த�ப*� ப�பிய�" எ�?     (A) $ளி�வி�$� திற+  (B) ேதG?�$ எதி��"2திற+  (C) K�ாிேகஷ+ ெசய�திற+  D) இவ0/& எ�?மி�ைல 39.39.39.39.    ,பா�� ஏ0ப*வத0$ (+னதாக கா0/ எாிெபா�& கலைவ தீ�ப0/கிற� எனி�, அ�த நிைலைம எ�ப
 அைழ�க�ப*கிற�?     (A) பல2த ஓைச;ட+ ெவ
�" (B) தீ�ப0றைவ�"  (C) (+ தீ�ப0றைவ�"  (D) $(ற� 40.40.40.40.    ஒ� ேப�டாியி� உ&ள அமில2தி+ த+னீ��ைப சாிபா��பத0$ பய+ப*2த�ப*� உபகரண� எ�?     (A) ைஹ�ேராமீ�ட� (B) ைஹ�ேராமீ�ட� (C) அனிேமாமீ�ட�  (D) ம��
மீ�ட� 41.41.41.41.    ஒ� வழ�கமான இ+ைல+ நா+$ சிJ�ட� எ+ஜினி+ கிரா�Tாஃ�� ஆன�  ________ சமநிைல எைடகைள ெகா�*&ள�.     (A) 12 (B) 4 (C) 16 (D) 8     
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42.42.42.42.    ெப�மளவி� ைஹ�ேராகா�ப+ உமிU?கைள ஏ0ப*2த�M
ய நிைலைம எ�?     (A) உய� ெவ�பநிைல எாித� (B) (Hைமய0ற எாித�   (C) $ைற�த ெவ�பநிைல எாித�  (D) உய� வளி�ேகாள ெவ�பநிைல எாித� 43.43.43.43.    எ+ஜி+ ஆயி� பிBபிB�"2த+ைம அத+ ___________ தரவாிைசகளா� வைரய/�க�ப*கிற�.     (A) தானிய�கி ெசR2�ைக பாGம� (ATF)  (B) ெசாைச�
 ஆஃ� ஆ�ேடாேமா�
: எ+ஜினிய�, (SAE)  (C) ெமா2த வாகன எைட (GVW)  (D) அெமாி�க+ ெப�ேராJய� இ+,
�L� (API) 44.44.44.44.    ஒ� ஈய� அமில ேப�டாியி+ ெநக�
: பிேள�*க& எைத ெகா�*&ள�?     (A) ெல* ெபரா�ைச* (PbO2)  (B) ,பா+W ேபால மிக?� ெம+ைமயாக இ��$� ஈய� (Pb)  (C) ெல* ச�ேப� (PbSO4)  (D) ச�பிLாி� அமில� (H2SO4) 45.45.45.45.    
ைர: ஷாஃ��க& 
ஃ�பர+ஷிய� ம0/� D� ஹ�க& ஆகியவ0/ட+ இைண�க�ப�*&ளன, ஏென+றா� ;னிவ�ச� ஜாயி+�க& -       (A) சாைலயி+ ேம0பர�பி� இ��� இடமா0ற�ப*� அதி�?கைள உறி5Bகி+றன  (B) $�*� $ழி;மான சாைல ேம0பர�"க& அ�ல� இதர இ� ேபா+ற வாகன� ஓ�*கிற நிைலைமகளி� இ��� 
ஃ�பர+ஷிய� ம0/� D�களி+ ஒ�"ைம இடநிைலகளி� ஏ0ப*� மா/பா*கC�$ ஈ*ெசGகி+றன.  (C) வாகன� தி��"� ேபா� இட� ம0/� வல� D�கC�$ இைடேயயான ேவக2தி� ஏதாவ� வி2தியாச2ைத உறி5Bவத0$  (D) ேமேல உ&ளவ0றி� எ�?மி�ைல 46.46.46.46.    வணிகாீதியாக கிைட�க�M
ய ெப�ேராJ+ ஆ�ேட+ தரவாிைச –     (A) 85-95 (B) 95-100 (C) 100-110 (D) 110-125 47.47.47.47.    எ�ேபா� வாகன சவாாி ெசௗகாியமாக இ��$�?     (A) வி� இ�லாத நிைற $ைற�தப�சமாக ைவ�க�ப�
��$� ேபா�  (B) வி� நிைற $ைற�தப�சமாக ைவ�க�ப�
��$� ேபா�  (C) வாகன நிைற $ைற�தப�சமாக ைவ�க�ப�
��$� ேபா�   (D) இைவ அைன2�� 48.48.48.48.    ஒ� ,பா�� இ�னிஷ+ எ+ஜினி� ஆ�ேடா இ�னிஷ+ எ+றா� –     (A) அ(�க2தி+ (
வி� சா�Wஜி+ தானிய�கி தீ�ப0றைவ�"  (B) ஒ� ,பா��கி+ பாைதயா� Y�ட�ப*� தீ�ப0றைவ�"  (C) ஃபிேள� ஃபிர��
+ பாைத�$ (+" சா�Wஜி+ தீ�ப0றைவ�"  (D) வழ�கமான எாிதJ+ ெசய�(ைற�$ �ைணயாக Y�ட�ப*� தீ�ப0றைவ�" 49.49.49.49.    பிேர� ெபட� ஃ�ாீ பிேள ஆன� வைரய/�க�ப�ட மதி�ைப விட $ைறவாக இ��$� ேபா�,     (A) பிேர� இH�கிற�   (B) பிேர� ம�தமாகிற�  (C) பிேர� ைல+களி� ேவ�ப� லா�கி� ஏ0ப*கிற�  (D) ஆ+�
லா� பிேர� பி
2த� அைம�பி� ெசய� ேகாளா/ ஏ0ப*கிற�  50.50.50.50.    ஆ�ேடாெமாைப� ேப�டாியி� பய+ப*2த�ப*� அமில� எ�?     (A) ைஹ�ேரா$ேளாாி� அமில� (B) ைஹ�ேராஃ"ேளாாி� அமில�  (C) ைந�ாி� அமில�  (D) ச�ஃபிLாி� அமில�                 
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51.51.51.51.     மிக உய��த பய8&ள அ(�க விகித� (HUCR) எ+ப� மிக உய��த அ(�க விகித� ஆ$�, இதி�     (A) எ+ஜினா� ஓட (
;�   (B) எ+ஜி+ அதிகப�ச ெவளிZ�ைட ெகா*�கிற�   (C) எ+ஜி+ மிக?� திற8&ள�   (D) ஒ� ேசாதைன எ+ஜினி� அ
2த� இ�லாம� எாிெபா�ைள பய+ப*2த (
;�  52.52.52.52.    ஒ� காாி+ ஒ� ெப�ேரா� எ+ஜி+ 2700 r.p.m.-இ� 125 Nm (/�$விைசைய உ�வா�$கிற�. இர�டாவ� கியாி� ஓ�ட�ப*� கா� ஆன� 1.75 எ+8� கிய� விகித2ைத ெகா�*&ள�. இ/தி 
ைர: விகித� 4.11 ஆ$�.  ஒ�*ெமா2த ெசR2�ைக திற+ 90% எனி�, 
ைரவி� D�களி� கிைட�க�M
ய (/�$விைச எ:வள??     (A) 8.091 Nm (B) 80.91 Nm (C) 809.1 Nm (D) 8091 Nm 53.53.53.53.    ஒ� ,பா�� பிள�கி+ ெச+�ர� எல��ேரா* ம0/� கிர?�* (அ�ல� ப�கவா�*) எல��ேரா*�$ இைடேயயான கா0/ இைடெவளி ஏற2தாழ எ:வள?      (A) 0.2 mm (B) 0.5 mm (C) 1 mm (D) 1.5 mm 54.54.54.54.    ஒ� நா+$ சிJ�ட� எ+ஜினான� 2.4 J�ட�க& எ+8� ஒ� ெகா&திறைன ெகா�*&ள�. ஒ� சிJ�டாி+ கட�க�ப�ட கன அள? எ+ன?     (A) 400 cm³ (B) 600 cm³ (C) 1200 cm³ (D) 2400 cm³  55.55.55.55.    ஒ� ஈய� அமில ேப�டாியி+ பாசி
: பிேள�*க& எைத ெகா�*&ளன?     (A) ெல* ெபரா�ைச* (PbO2)  (B) ,பா+W ேபால மிக?� ெம+ைமயாக இ��$� ஈய� (Pb)  (C) ெல* ச�ேப� (PbSO4)  (D) ச�பிLாி� அமில� (H2SO4) 56.56.56.56.    ஒ� ேர
ய� டய�ட+ ஒ�பி*ைகயி�, ஒ� பயா, பிைள டயாி� உ&ள ஒ� சாதக� எ+ன?     (A) நீ�ட பய+பா�* ஆ;�கால� (B) $ைற�த அளவிலான உ�C� எதி��"2திற+   (C) $ைற�த ேவக�களி� ெம+ைமயான சவாாி  D) இவ0/& எ�?மி�ைல 57.57.57.57.    ஒ� ம��
 சிJ�ட� வைக சிJ�ட� ,P:வி+ (த+ைமயான சாதக� எ+ன?     (A) சிறிய எ+ஜி+ பாிமாண�க& (B) ேம�ப�ட $ளி�வி�$� ெசய�திற+  (C) உயரள? ெநளியாைம   D) இவ0/& எ�?மி�ைல 58.58.58.58.    எத0காக ெபயி+�*ட+ தி+ன� ேச��க�ப*கிற�?     (A) நிறமிகC� ெரசி8� எளிதாக கல�பத0$ (B) ெபயி+� ஃபிJைம க
னமா�$வத0$   (C) அத+ பா$2த+ைமைய உக�ததா�$வத0$ D) இவ0/& எ�?மி�ைல 59.59.59.59.    ேப�டாியான� பாதியள? (50%) சா�W ெசGய�ப�
��$� ேபா�, ஒ� ேப�டாியி� உ&ள அமில2தி+ த+னீ��" வழ�கமாக எ:வள? இ��$�?      (A) 0.74 (B) 1.00 (C) 1.19 (D) 1.12 60.60.60.60.    வா�?களி+ திற2த� ம0/� 3*தR�$ ஒ2த சாியான கிரா�� இடநிைலகைள கா�*கி+ற விள�க வைரபட� எ�ப
 அைழ�க�ப*கிற�?     (A) இ+
ேக�ட� விள�க வைரபட� (B) அ=Bவழி விைச விள�க வைரபட�   (C) வா�? காலஅள? விள�க வைரபட�  D) இவ0/& எ�?மி�ைல 61.61.61.61.    காாி+ (+"ற2தி� இ��� பா��க�ப*� ேபா�, ெச�$2� நிைலயி� இ��� Yரமாக இ��$� (+"ற D�களி+ சாG? எ�ப
 அைழ�க�ப*கிற�?     (A) ேக�ப� (B) ேக,ட�  (C) ேடா இ+  (D) ேடா அ?�  62.62.62.62.    ைட ரா* Sனிகளி� பா� ஜாயி+�க& பய+ப*2த�ப*கி+றன, ஏென+றா� அைவ –     (A) உ�வா�க�ப*� இைர=சJ+ அளைவ $ைற�கி+றன  (B) வH�$த� எதி��"2திறனி+ அளைவ $ைற�கி+றன   (C) ெச�$2தாக?� ம0ற திைசகளிR� என இர�
R� ச,ெப+ஷனி+ இய�க2ைத ைகயாள�M
யைவ   (D) விைச ெசR2�ைக ேவக2ைத ேம�ப*2�கி+றன      
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63.63.63.63.    ஒ� ெப�ேரா� எ+ஜினி�, ,பா�� பிள�கி0கான உய� மி+னH2த� எ+ன வாிைச(ைறயி� இ��கிற�     (A) 1000 ேவா��, (B) 2000 ேவா��, (C) 11 கிேலாேவா��,  (D) 22 கிேலாேவா��,  64.64.64.64.    அேத அதிகப�ச அH2த� ம0/� ெவ�பநிைலைய ெபா/2தவைர     (A) ஓ�ேடா Bழ0சிைய விட Qச� Bழ0சி ேமலதிக பலனளி�"2திற+மி�க�  (B) Qச� Bழ0சிைய விட ஓ�ேடா Bழ0சி ேமலதிக பலனளி�"2திற+மி�க �   (C) ஓ�ேடா Bழ0சி ம0/� Qச� Bழ0சி ஆகிய இர�*� சமமான பலனளி�"2திற+மி�க�   (D) ேமேல உ&ளவ0றி� எ�?மி�ைல 65.65.65.65.    ெப�ேரா� எ+ஜி+க& ேவ/ எ�ப
 அைழ�க�ப*கி+றன     (A) ,பா�� இ�னிஷ+ (S.I.) எ+ஜி+க& (B) க��ரஷ+ இ�னிஷ+ (C.I.) எ+ஜி+க&  (C) நீராவி எ+ஜி+க&  D) இவ0/& எ�?மி�ைல 66.66.66.66.    DOT 3 ம0/� DOT 4 பிேர� பாGம�கC�$ இைடேயயான வி2தியாச� எ+ன?     (A) DOT 4 பாGம�க& DOT 3 பாGம2ைத விட உய��த ெகாதிநிைலைய ெகா�*&ளன  (B) DOT 4 பாGம�க& DOT 3 பாGம2ைத விட ஒ� $ைற�த ெகாதிநிைலைய ெகா�*&ளன  (C) DOT 3 ம0/� DOT 4 பாGம�க& அேத ெகாதிநிைலைய ெகா�*&ளன, ஆனா� DOT 4 பாGம� ஒ� நீ�ட பய+பா�* ஆ;ைள ெகா�*&ள�   (D) DOT 4 பாGமமான� DOT 3 பாGம2ைத விட உைறதR�$ ேமலதிக எதி��"2திற8&ள� 67.67.67.67.    D� சமநிைலயி+ைமயா� ஏ0ப*� பிர=சிைனக& யாைவ?     (A) க
னமான ,Qயாி� ம0/� க
னமான சவாாி  (B) ேமாசமான (*�க� ம0/� க
னமான ,Qயாி�  (C) ,Qயாி� D� அதி�?க& ம0/� சம=சீர0ற டய� ேதG?  (D) ேமாசமான (*�க� ம0/� $ைற�க�ப�ட எாிெபா�& ெசய�திற+ 68.68.68.68.    ஐேசா ஆ�ேடனி+ 42திர� எ+ன?     (A) C8H18 (B) C7H17 (C) C6H18 (D) C7H18 69.69.69.69.    (/�$விைச மா0றியான� (/�$விைசைய இடமா0/வத0$ ________  -ஐ பய+ப*2�கிற�.     (A) கா0/  (B) தானிய�கி ெசR2�ைக பாGம� (ATF)  (C) கிய�க&   (D) ,Q� ெப��  70.70.70.70.    ஒ� (Hைமயாக சா�W ெசGத ேப�டாியி� உ&ள எல��ேராைல�
+ ஆ�க�M/க&     (A) எல��ேராைல� ஆன� YGைமயான 
,
�* நீ� ஆ$�  (B) எல��ேராைல� ஆன� YGைமயான ச�ஃபிLாி� அமில� ஆ$�   (C) எல��ேராைல� ஆன� எைட வாாியாக 64% 
,
�* நீ� ம0/� 36% ச�ஃபிLாி� அமில� ஆகியவ0றி+ கலைவ ஆ$�  (D) எல��ேராைல� ஆன� எைட வாாியாக 90% 
,
�* நீ� ம0/� 10% ச�ஃபிLாி� அமில� ஆகியவ0றி+ கலைவ ஆ$� 71.71.71.71.    ெப�ேரா� எ+ஜி+ எதி� இய�$கிற�?     (A) ஓ�ேடா Bழ0சி (B) கா�னா� Bழ0சி  (C) Qச� Bழ0சி  (D) ரா+ைக+ Bழ0சி  72.72.72.72.    (/�$விைச மா0றியி� அதிகப�ச (/�$விைச ெப��க விகித� ஏற2தாழ எ:வள??     (A) 40 (B) 25 (C) 2.5 (D) 10 73.73.73.73.    Qச� எாிெபா�ளி+ சீ�ேட+ தரவாிைச எ+ன வாிைச(ைறயி� உ&ள�?     (A) 25 (B) 45 (C) 70 (D) 90 74.74.74.74.    ஆ�ேடாெமாைப�களி� உ&ள இHைவ க�*�பா�* அைம�" (TCS) எைத க�*�ப*2�கிற�?     (A) ,Qயாி� DJ� உ&ள அதி�?க&  (B) (*�க2தி+ ேபா� எ+ஜி+ ஆ0/திற+   (C) டய�களா� சாைல ேம0பர�"�$ ெசR2��ப*� (/�$விைச  (D) ெந��க
நிைல ேந�வி� நி/2�கிற Yர�     
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75.75.75.75.    ஒ� ெப�ேரா� எ+ஜினி+ அ(�க விகித� கி�ட2த�ட எ:வள??     (A) 4:1 (B) 8:1 (C) 15:1 (D) 20:1 76.76.76.76.    ,டா��ட� ேமா�டா� எத+ 3ல� இய�க�ப*கிற�?     (A) ெசயி+ 
ைர: (B) கிய� 
ைர: (C) த�ைடயான ெப�� 
ைர:  (D) V-ெப�� 
ைர: 77777777....    ேர
ய� டய�களி� –      (A) ஒ� பிைளயான� ஒ� வழியி� 3ைலவி�ட எதிராக?� ம0ெறா� அ*�கான� ம0ெறா� வழியி� 3ைலவி�ட எதிராக?� ஓ*கிற�  (B) அைன2� பிைளகC� ஒ+/ட+ ம0ெறா+/ இைணயாக?� டய� [*�$ ெச�$2தாக?� ஓ*கி+றன  (C) உ�"ற 
L�க& எ�ேபா�� பய+ப*2த�ப*கி+றன  D) இவ0/& எ�?மி�ைல 78.78.78.78.    ெநளியாத ச,ெப+ஷ+ எ�ேபாெத�லா� பலனளி�பதாக உ&ள�?     (A) வி� இ�லாத நிைறைய $ைற�க வி��"� ேபா�  (B) வ
வைம�பி� ேமலதிக ெநகிU2த+ைமைய ெகா�
��க வி��"� ேபா�  (C) டய��$� தைர�$மான ெதாட�" ப�பிய�"கைள ேம�ப*2த வி��"� ேபா�  (D) ேலா
� ெபாிய மா0ற�க& ஒ� ெபாிய ச,ெப+ஷ+ ,�ேரா�ைக ெகா�
��க அவசிய�ப*� ேபா� 79.79.79.79.    நீாி+ ெகாதிநிைலைய அதிகாி�கி+ற, ஒ� ஆ�ேடாெமாைபJ+ ேர
ேய�டாி� உ&ள M/ எ�?     (A) 
ரG+ பிள� (B) நீ� ஜா�ெக� (C) வா�$வ� வா�?  (D) அH2த 3
  80.80.80.80. Qச� எ+ஜி+களி�, , , , இ+ெஜT+ ேநர2தி0$� இ+ெஜT+ ேநர2தி0$� இைடேயயான கால அள? எ+ன? ? ? ?   (A) ,பி� க� ஆஃ�    (B) தாமத கால�க�ட�   (C) இ+ெஜT+ கால�க�ட�  (D) தீ�ப0றைவ�" கால�க�ட�  81.81.81.81. பயா, பிைள டய�களி� ––––  (A) அைன2� பிைளகC� ஒ+/ட+ ம0ெறா+/ இைணயாக ஓ*கி+றன  (B) டய�களி� ,Q� வைல�க�ணியி+ ெப��க& பய+ப*2த�ப*கி+றன  (C) ஒ� பிைளயான� ஒ� வழியி� 3ைலவி�ட எதிராக?� ம0ெறா� அ*�கான� ம0ெறா� வழியி� 3ைலவி�ட எதிராக?� ஓ*கிற�  (D) ேமேல உ&ள அைன2�� 82.82.82.82. சிJ�ட� பிளா�$களி� அRமினிய� கல�"ேலாக� பய+ப*2த�ப*கிற�, , , , ஏென+றா� ––––      (A) இ� எைட $ைறவான� ம0/� ந�ல ெவ�ப=சிதற� ப�பிய�"கைள ெகா�*&ள�   (B) ெம�Qாிய� ஆ�கவிைல $ைறவாக உ&ள�   (C) இத0$ எ�தெவா� சிJ�ட� ைலன�கC� ேதைவ�படா�  (D) பி,ட8� அRமினிய� கல�"ேலாக2தா� தயாாி�க�ப�*&ள�  83.83.83.83.        டயாி� 
ெர* உ� அைம�பி+ (த+ைமயான ெசய�பா* எ+ன? ? ? ?   (A) 
ெர* வாி�ப&ள�க& டய��$� சாைல ேம0பர�"�$� இைடேய கா0ைற கட2�வத+ 3ல�, டயரான� அள?�$ அதிகமாக 4டாவைத த*�கிற�.  (B) �ெர* வாி�ப&ள�கC�$ இைடேயயான (க*க& சாைல இைர=சைல உறி5Bகி+றன    (C) ஈரமான நிைலைமகளி�, 
ெர* வாி�ப&ள�க& டய� ம0/� சாைல ேம0பர�"�$ இைடேயயான நீைர ெவளிேய0/கி+றன.     (D) 
ெர* உ� அைம�" டயாி+ உ�"ற கா�காைஸ சிறிய க0க& ம0/� க�ணா
 ��*களி� இ��� ேசதமைடயாம� பா�கா�கிற� 88884.4.4.4.    மிக?� ெபா�வாக பய+ப*2த�ப*� �ைண க�*�பா�* அைம�" (SRS) (SRS) (SRS) (SRS) M/ எ�????  (A) சீ� ெப��   (B) பிேர�   (C) ஏ�ேப�   (D) ,Qயாி�             
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88885.5.5.5.    மி+னFவிய� (ைறயி� க�*�ப*2த�ப*� ஒ� தானிய�கி ெசR2�ைகயி+ (�கிய ேநா�க� எ+னெவனி� இ�த வைகயான ெசR2�ைக ----          (A) கிய� கிள�=கைள பய+ப*2�வதி�ைல    (B) கிய� ஷிஃ�� Pவைர பய+ப*2�வதி�ைல   (C) தானிய�கி ெசR2�ைக M/களி+ எ�ணி�ைகைய $ைற�கிற�   (D) ஷிஃ�� அதி�=சிைய $ைற�கிற� ம0/� எ+ஜி+ (/�$விைசயி+ ேமலதிக பலனளி�"2திறைன அைடகிற�  86.86.86.86.    க��ரஷ+ இ�னிஷ+ எ+ஜி+ எாிெபா�ளி+ அ
2த� த*�" ப�ைப எைத ேச��பத+ 3ல� ேம�ப*2த (
;�????  (A) ெட�ராஎ2தி� ெல*   (B) 
ைரெம2தி� ெப+�ேட+   (C) அைம� ைந�ேர�   (D) ெஹ�ஸா
ேக+ 87.87.87.87. ஒ� ேவா�� கிய� ஆன� ேர� ம0/� பினிய+ வைகயான ,Qயாி� கிய� பா�,சி0$ பினியனாக பய+ப*2த�ப*கிற�, , , , ஏென+றா� இ� ––––   (A) (+ேனா�$ இய�க2தி+ திைசயி� சிறிய மா0ற�கைள ஏ0ப*2�வத0$ ,Qயாி� D� தி��ப�ப*� ேபா� ,Qயாி� வசதிைய ேம�ப*2�கிற�   (B) ,Qயாி�கி+ ேபா� ஒ� மிக�ெபாிய அளவா� தி��ப�ப*வத0$ ,Qயாி� Dைல அ8மதி�கிற�  (C) ,Qயாி�ைக ேமலதிக பதி�விைனயா0ற�M
யதாக ஆ�$கிற�   (D) ெபாிய ,Qயாி� ேகாண�கC�$ கி�ேப�கி+ அளைவ $ைற�கிற� 88888.8.8.8.    ,பா�� பிள� ப
வான� "ைக�காியி+ க/�" ேம07=ைச B�
�கா�*கிற� எனி�, , , , அ� எ+ஜி+ ெபா�வாக எதி� இய�க�ப�*&ள� எ+பைத B�
�கா�*கிற�????   (A) மிக?� $ைற�த கலைவயி�  (B) ேவதிவிகித கலைவயி�    (C) மிக?� சி�கனமான கலைவயி�   (D) மிக?� வளமான கலைவயி�  88889.9.9.9.    பி,ட+ ெஹ* உ=சி ேம0பர�பி� உ&ள வள�பிைற வ
வ(&ள $ழி எ�ப
 அைழ�க�ப*கிற�? ? ? ?   (A) பி,ட+ ஆயி� �ைள (B) ,நா� ாி� (C) வா�? இ*�$ (D) வா�? கிளியர+, 99990.0.0.0.    சிJ�ட� ,P:களி+ பய+பா�டா� ேம�ப*2த�ப*� ப�பிய�" எ�????  (A) $ளி�வி�$� திற+  (B) ேதG?�$ எதி��"2திற+  (C) K�ாிேகஷ+ ெசய�திற+ D) இவ0/& எ�?மி�ைல 99991.1.1.1.    கன�
� ரா* பி,ட8ட+ எைத இைண�கிற�????  (A) சிJ�ட� ெஹ* (B) சிJ�ட� பிளா� (C) ேக�ஷாஃ�� (D) கிரா�Tாஃ��  99992.2.2.2.    ஆ�ேடாேமா�
: எ+ஜி+கC�கான 3+/ அ
�பைட சிJ�ட� ஒH�கைம�"க& யாைவ????  (A) த�ைட, ேர
ய�, ம0/� V (B) ஒ� வாிைசயி�, ேகா�
�, ம0/� எதிெரதிராக  (C) ேகா�
�, V, ம0/� எதிெரதிராக (D) V, இர�ைட வாிைச, ம0/� எதிெரதிராக  99993.3.3.3.    பிேர� பாGம2தி+ (�கிய= ெசய�பா* எ+ன????  (A) உராG? நீ�$த�  (B) ஆ0/திற+ ெசR2�ைக  (C) $ளி�வி2த�   D) இவ0/& எ�?மி�ைல 99994.4.4.4.    ஆ�ேடாெமாைப� டயாி+ எ�த பாக� மிக�ெபாிய வைள�� மட�$த� ெசய�பா�*�$ உ�ப*2த�ப*கிற�????    (A) [* (B) ப�கவா�* Bவ� (C) ேதா& (D) �ெர* 99995.5.5.5.    Qச� எ+ஜி+கC�கான அ(�க விகித� வழ�கமாக எ�த வர�பி� அைம��&ள�? ? ? ?   A) 6-10 (B) 10-15 (C) 15-25 (D) 25-40 99996.6.6.6.    பி,ட+ க��ரச+ ாி�$க& எைத� ெகா�* தயாாி�க�ப*கி+றன????        (A) வா��பி��" (B) ,Q� (C) அRமினிய� (D) ெவ�கல� 97.7.7.7.    ஒ� விைசL�ட�ப�ட K�ாிேகஷ+ அைம�பி�, , , , அதிக�ப
யான ஆயி� அH2த2தி0$ எதிராக பா�கா�பத0$ பய+ப*2த�ப*� சாதன� எ�? ? ? ?   (A) ாிP, ேச�ப�  (B) ேபல+ஸ�  (C) ாிPஃ� வா�? (D) ,டா� வா�?              
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99998.8.8.8.    டயாி+ வ
வ விகித� ((((சதDத2தி� ெவளி�ப*2த�ப*கிற�) ) ) ) எ+ப� எத8ைடய விகிதமாக ெவளி�ப*2த�ப*கிற�????  (A) ெசT+ உயர2தி0$� ெசT+ அகல2தி0$மான விகித�  (B) ெசT+ அகல2தி0$� ெசT+ உயர2தி0$மான விகித�   (C) ெசT+ உயர2தி0$� DJ+ வி�ட2தி0$மான விகித�  (D) ெசT+ அகல2தி0$� DJ+ வி�ட2தி0$மான விகித� 99999. 9. 9. 9. 
,சா�W ஆன ெல* அமில� ேப�டாி த+ பிேள�*களி� எைத� ெகா�*&ள�????        (A) ெல* ெபரா�ைச* (PbO₂)  (B) ,பா+W ேபால மிக?� ெம+ைமயாக இ��$� ஈய� (Pb)  (C) ெல* ச�ேப� (PbSO4)  (D) ச�பிLாி� அமில� (H2SO4) 101010100.0.0.0.    ஒ� தானிய�கி ெசR2�ைகயி+ கிய� Lனி�
� கிய� மா0ற�கைள நிைறேவ0/வத0$, , , , ஒ�  ___________  ___________  ___________  ___________  பய+ப*2த�ப*கிற�....   (A) சி+$ேராைனஸ�  (B) பிளாென�டாி கிய�  (C) ேம�ென�
� கிள�=  (D) ைஹ�ராJ� ம��
 பிேள� கிள�= �ைல                                
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